DISCOUNT

S

1.

(9

A discount of 214% is given to the customer on
the marked price of an article. A man bought the
article for ¥ 39. The marked price of the article is :
fordll og & 3ifRd Ied W WES &l 2%%
9221 &1 w1 81 Uk Al 4 98 9% 39 ®o
T @l o 1 Sfhd qed -
(1) T42 s(2) ¥36.5
() T40 (4) T415

(SSC CGL Prelim Exam. 04.07.1999 (IInd Sitting)
The marked price of a shirt and trousers are in
the ratio 1 : 2. The shopkeeper gives 40% dis-
count on the shirt. If the total discount on the set

of the shirt and trousers is 30%. the discount of-
fered on the trousers is

fordt el qen Yo & offeRd T 1:2®
ST | B SMIR HHS T 40% h1 DL 3l
21 g i qen Y2 I W e < T g
30%. B, @ ¥ W & T ge R @2
(1) 15% (2) 20%
(3) 25% 4) 30%
(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)

While selling a cooler, a shopkeeper gives a dis-
count of 10% on the marked price. If he gives a
discount of 12% he earns ¥ 35 less as profit.
The marked price of the cooler is
HE FHMIR Th HOR oo G99 IHh 3R
T W 10 FAed w1 g @ 2 AR T7 12
yfaerd w1 B2 <, T IHR N 3AfSa A9 H 35
®UT T FHA B S T FHeR H SAfRd I
T
(1) TL650  (2) F1,625
(B) TL725 (4 F1,750

(SSC CGL Prelim Exam. 27.07.2008 (Second Sitting)
When a shopkeeper gives 10% discount on the
list price of a toy, his gain is 20%. If he had given

a discount of 20%, his percentage of gain would
have been

fopelt faei & Sifhd Gea W 10% 1 o221 3
Y Teh THFER 1 20% 1 A9 Bl 8l IfE ST
20% W1 w221 fea B, @ &kl o wfaem
foRa Brar?

(1) 6%% 2) 8%%

(3) 10% @) 15%

(SSC CPO S.I. Exam. 09.11.2008) & SSC CHSL DEO &

LDC Exam. 28.11.2010 (IInd Sitting)

Rahim bought a T. V. with 20% discount on list
price. Had he bought it with 25% discount he
would have saved ¥ 500. At what price did he
buy the T.V?
W A Th .9 IHD FEI qod ¥ 20% B2
R T A 3T T8 25% B2 W @ B,
@ e 3EH 500 ®IC SR = fow
TEIER @ A I8 LA fovad o wli|r o
(1) ¥16,000 (2) F12,000
(3) ¥10,000 (4) ¥8,000

(SSC CHSL DEO & LDC Exam. 04.02.2011 (Ist Sitting

(East Zone) & SSC CL Tier-II Exam. 16.09.2012)

A discount of 16% on the marked price of a book
enables a man to buy a pen that costs ¥ 80. How
much did he pay for the book?
Th T o 3ifehd Hod T 16% 1 T2 ¥ Th
ST 80 ®UT i A dTell Teh U9 WIS
ehdl B T&ieh o ToIq SHA foha e feman?
(1) 500 (2) F480
() 420 (4) ¥340

(SSC Constable (GD) & Rifleman(GD) Exam. 22.04.2012 (Ist Sitting)
An article marked ¥ 800 is offered at ¥ 736 in
the off season. The rate of discount offered is :
T o] I SAfhd Jo 800 ®IC 2| 3 HEH
gftd & o€ 736 €L § o= % JEE e
S9N, Fifaeh 92 fohal @2
(1) 10% 2) 7%
3) 7.5% 4) 8%

(SSC CHSL DEO & LDC Exam. 21.10.2012. IInd Sitting)
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10.

I1.

12.

The selling price of a video game is ¥ 740 and
the discount allowed is 7.5%. The marked price
of the video game is:

% Aifedl Tt w1 foh! ged ¥ 740 SN 39
W 7.5% 9 X T B TEIER, SUh1 ifhd I
feme Brm?
(1) ¥600 (2) ¥700
(3) ¥800 (4) F900

(SSC CHSL DEO & LDC Exam. 28.10.2012 (Ist Sitting)
A washing machine is sold at a discount of 30%.
If a may buys it for ¥ 6,580, its list price is
Th YAR-TE 30% 1 B W o= S 21 A
HE fr W T 6,580 § wlEd ©, @ SEeH
siferd Ted foram g2
(1) ¥7,500 (2) 8,600
() T9,400  (4) ¥6,990

(SSC Delhi Police. S.I. (SI) Exam. 19.08.2012)

A discount of 15% on one article is the same as

discount of 20% on a second article. The cost of
the two articles can be :

Th a5 W 15% A1 922, T a5 W 20% &
g2 & TAM Bl SA I IS w1 G @
RETIES
(1) ¥85 F60 (2) 60, T40
(3) T40, ¥20 (4) T80, T60

(SSC CGL Prelim Exam. 04.07.1999 (First Sitting)
A retailer purchases a grinder at a discount of
15% and sells it for ¥ 1955 at a profit of 15%.

The amount of discount received by the retailer
from the wholesaler was

T el foashdl T TRl ol 15% i 8 |
TR € T 15% % A9 § 1955 &, o9 &0 2
B2 T NI, S ekt foshal A ies fofshal § sl
i, off-

(1) %270
(3) 300

(2) ¥290

(4) 330
(SSC CGL Prelim Exam. 27.07.2008 (First Sitting)
If a dining table with marked price ¥ 6,000 sold
to a customer for ¥ 5,500, then the rate of dis-
count allowed on the table is
I Tk -89, weRt sifd 7ed ¥ 6,000
€, T UESH 1 ¥ 5,500F 9= & T 2, @ 39

13.

14.

15.

AW W @ R e kR R 22
(1) 10% 2) 8%

(4)

(SSC GL Tier-I Exam. 11.11.2012 (Ist Sitting)
A table with marked price ¥ 1200 was sold to a
customer or ¥ 1100. Find the rate of discount
allowed on the table.
3fRd ged T 1200 ATl Toh 0 Th U8h ol
T 1100 H o= TE| A9 T &t T L A W A
¢

1
(3) 8% 9%

1
(1) 9% @) 8%

@) 10%

(SSC CGL Tier-I Re-Exam. (2013) 27.04.2014)

3) 9%%

1
Ifthe discount is equal to 3 of the marked price

and the loss is half the discount, then the per-
centage of loss is

afg wdt (a22) @ifehd gea & % % SR
1 SR 71 FAA T el 7, @ = 1 wfw
F

(1) 10%%

(2) llé%

3) 12%% 4) 135%

(SSC CGL Tier-I Re-Exam. (2013) 20.07.2014 (Ist Sitting)
Aisto pay B. T 600 in 4 years time. A offers to
pay up B at present. What discount should B
allow A?

A =R o § Bl T 6003 B A, B
A I H TEA ¢ B G AR e

B A IHI AMfeT?
(1) T96 (2) T100
(3) ¥120 (4) 110

(SSC CGL Tier-I Re-Exam. (2013)20.07.2014 (TInd Sitting)
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16.

17.

18.

To attract more visitors, Zoo authority announces 20%
discount on every ticket which costs 25 paise. For this
reason, sale of ticket increases by 28%. Find the per-
centage ofincrease in the number of visitors.

Afereh STIgeh! i STTeRfHT i o fore Fafgamr
4 e fehe W 25% ®e Hiftm wX &
et geg 25 U9 21 39 wRo, fohe ot o
28% ! TG ggl SAFIgeh! bl W& H fawrd
gfs A Aw1?
(1) 40%
(2) 50%
(3) 60%
(4) No change / ®¥g TRad" &l

(SSC CGL Tier-I Exam. 19.10.2014 (Ist Sitting)
A shopkeeper sold an item at 10% loss after giv-

ing a discount equal to half the marked price.
Then the cost price is

T THMER 7 Sifhd Jod W el B2 & W
10% &1 W HiE & o= T IHH ANE Jo
w1 B2

1 )
(1) gth of marked price / 3ffrd qed

O | —

G

4 )
(2) 9 th of marked price / 3ifehd 7o

3
O | &~

5 )
(3) gth of marked price / 3ffrd qed

3
QO | L

7 g
4) 5 th of marked price / 3ffhd o4

O |

G

(SSC CGL Tier-I Exam. 21.09.2014)
A person purchased a saree for ¥ 7710 after
availing a net discount of ¥ 1285. The percent-
age of discount the saree shop offers, is.

19.

20.

21.

T AfR A T 1285 1 Fad g foer W wret
T 7710 ® @S W€l §HEER A el W TR
gfaera =2 <12
l0
(1) 1474

(2) 14%%

3) 14%% 4) 14;%

(SSC CGL Tier-I Exam. 21.09.2014)

X purchased an item at a discount of 10% and
sold it to Y at 10% profit. The marked price and
the price for which Y purchased the item are in
ratio.
X B A% 10% B2 R BRI W Y ! 10%
oH R 9= 1 eAfeRd wivd oK 39 HiEd 9
R YT HE WIS hl SEYC F1 T2
(1) 1:1 (2) 10:99
(3) 20:99  (4) 100:99

(SSC CHSL DEO & LDC Exam. 16.11.2014)
A shopkeeper listed the price of goods at 30%
above the cost price. He sells half the stock at
this price. one fourth of the stock at a discount
of 15% and the remaining at 30% discount. His
overall profit is.
TH THMSR 4 WM 61 oI ard ged §
30% sffeeh foran! o8 e 9 39 Jod W,
T MR HEE 15% i B2 W 3 9 30%
# B W A B SH FKA R o9 gl

15%

30
1) 15:% @

3) 15%% 4) 15%%

(SSC CGL Tier-I Exam. 19.10.2014)
A dealer allows his customers a discount of25%
and still gains 25%. If an article costs ¥ 1,440
to the dealer, then its marked price is

T Taghdl o104 Wkl h1 25% HT BL 3@ @
3R AT ot 25% w1 Afoens HAw 81 Aafs o
H1 G fohal I 1,440 €IT A ¢, q@ 39
% 1 SifRd oI A1 T2
(1) T1,850 (2) F2,400
() ¥2,560 (4) ¥1,500

(SSC CGL Tier-11 Exam. 2014 12.04.2015
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22.

23.

24.

25.

Abuilder purchases 25 windows at 25% off the
total price of T 1,20,000. Ifthe builder receives
an additional discount of ¥ 7500 for the
purcahse, then the cost of each window is

T foeet /A T 1,20,000 hiHd w1 25 farsfmar
25% B2 R @led 81 Ik foeet %1 @it W T
7500 1 tfiafterd B¢ foerdt €, @ 9fd @ w0
Bi?

(1) ¥3300  (2) ¥3100

(3) T3400  (4) F3200

(SSC CGL Tier-II Exam. 12.04.2015 TF No. 567 TL 9)
A seller increases the cost price of an article by
30% and fixed the mraked price as ¥ 286. But
during sale he gavs 10% discount to the
pruchase. Percentage of profit will be

e foshar A fRdll a5 1 @ God 30% @1
T @i siferd Hod 286 ®UT 99 Y fZA1 W
fosht & T 3HT @R &1 10% 1 72 |
A9 1 Fiqerd fepamn Brm?
(1) 17 @) 15
3) 10 @) 20

(SSC Constable (GD Exam. 04.10.2015. Ist Sitting)
A shopkeeper. in order to clear his old stock of
T. V. sets. offers 12% discount on the T. V. sets. If
the marked price of a T.V. set is ¥ 6500, the
selling price of the T.V. set is :
T THMER 6l Hel & R ik 6l T H
% fou deft T2 W 12% 1 9L 2@ 21 Al et
T 1 3ifehd e 6500 ®UC @ @ e T H
faeh! goa foham 22
(1) ¥5700  (2) ¥5720
(3) T5400  (4) FT6000

(SSC Constable (GD) Exam. 04.10.2015. Ist Sitting)
Articles are marked at a price which gives a profit
of 25%. After allowing a certain discount the

1, .
profit reduces to 12 5 ¥o The discount percent
is
FEqell 1 Hod $9 YR Sifhd fohar S € fR
A 25% Bl HF B2 1 h TR AW HIH

12%% ? S 21 ge e fha €2

26.

27.

28.

29.

(1) 11.1% 2) 10%

(4)

(SSC CGL Tier-II Exam. 25.10.2015. TF No. 1099685)
Ram bought a T.V. with 20% discount on the
labelled price. Had he bought it with 30% dis-
count he would have saved ¥ 800. The value of
the T. V. set that he bought is
T A o9d T o W 20% H1 T W TH
el BRI AfE 36 I 30% i B W W
BT 1S9 800 ®UT i S=d Bl SHh W
TR MU At Y2 kT ged feha 72
(1) ¥5,000 (2) ¥8,000
() ¥9,000 (4) ¥10,000
(SSC CGL Tier-I Exam. 19.10.2014 TF No. 022 MH 3)
State electricity board gives 15% discount on
electric bills if it is paid before due date. One
person gets ¥ 54 as discount. The amount of
actual bill was :
fosteft fo@ @1 e afs fo@ ol 9 w8
fepan ST T Taeteft s 15% 1 =2 3 21
It T A Hl 54 TC K ge et €, @
NI EEMEGECTIRUNINETRIN IV
(1) ¥362 (2) ¥359
(3) ¥360 (4) T361
(SSC CHSL (10+2) LDC. DEO & PA/SAExam. 15.11.2015)
(Ist Sitting) TF No. 6636838
A shopkeeper fixes the price of an article at 30%
higher than its actual cost. If the sells it at 10%
discount on marked price then, the profit is:
Th ShIMER ek %] ohi hiHd IHch! aTEidh
A © 30% Stes @ s 71 afe 9 39
#fhd Hod W 10% B2 W o=@ € @ @19
yfaera fera g2
(1) 18% 2) 19%
3) 17% 4) 20%
(SSC CHSL (10+2) LDC. DEO & PA/SAExam, 06.12.2015
(Ist Sitting) TF No. 1375232)
A house was sold for ¥ y by giving a discount of
x%. then the list price was :
Teh HohM x% 1 B < y ®IC H =1 741 @l
SHRI Y Hed 1 o1?

1
3) 122% 12%
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100y
; 100y 5 <
100x 100y

® oy @ T

(SSC CHSL (10+2) LDC. DEO & PA/SA Exam. 06.12.2015
(IInd Sitting) TF No. 3441135)

TYPE-II

Successive discount of 10% and 30% are equiva-
lent to a single discount of :

10% 3R 30% & hiteh w22 & HHqed Teh

SThal d22l BII-
(1) 40% 2) 35%
(3) 38% 4) 37%

(SSC CGL Prelim Exam. 04.07.1999)
Applied to a bill for ¥ 1,00,000 the difference be-
tween a discount of 40% and two successive dis-
count of 36% and 4% s :

1,00,000 ®o & U foa1 W faer ameft 40%
1 HIAA U1 T 36% AT 4% 1 Fad Helfaal
1 IR 2
(1) Nil

(3) ¥2,500

(2) T1,440
(4) ¥4,000
(SSC CGL Prelim Exam. 04.07.1999 (Ist Sitting &
SSC SO (Audit) Exam. 16.11.2003) (1Ind Sitting)
The marked price of a watch is ¥ 1000. A re-
tailer buys it at ¥ 810 after getting two succes-
sive discounts of 10% and another rate which is
illegible. What is the second discount rate?

el WISl 1 Sifhd w9 1000 ®o B Th
TR Toshdl 39 I hiHeh F2 W 810 ®o |
Tie B, Torm § T 10% ® 3R o0 e
2 TR 9 B W F 2
(1) 15% (2) 10%
3) 8% 4) 6.5%

(SSC CGL Prelim Exam. 24.02.2002 (First Sitting)
The marked price of an article is T 500. It is

sold at successive discounts of 20% and 10%.
The selling price of the article (in repees) is :

fordft g <1 sifeRd Tod 500 €I 71 98 20%

R 10% o &1 hifeh 22 W o= Sl 21 SH
I=] 1 Tk ged (¥ W) -
(1) 350 2) 375
(3) 360 (4) 400

(SSC CGL Prelim Exam. 11.05.2003 (Ist Sitting)
An item is marked for ¥ 240 for sale. If two
successive discount of 10% and 5% are allowed

on the sale price, the selling price of the article
will be

foRell a%g W1 o= & AT IEeR Sffohd Hed 240
T @ S 71 AR sifeRd Tod W 10% SR 5%
o T Hifeh o2 U S €, 0 39 o 1 Tk

A BT
(1) ¥20520 (2) T204
(3) T3480 (4) T36

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
The price of an article is raised by 30% and then
two successive discount of 10% each are al-
lowed. Ultimately the price of the article is

Terdll =g 1 o 30% F@reht T S8 W 10%
3R 10% o 1 i 922 fau o 21 3ifaq &9
Y g% H g BI-

(1) increased by 10% / 10% €& Sirdl 2

(2) increased by 5.3% /5.3% 9@ Srql 2

(3) decreased by 3% / 3% ® ITql 2

(4) decreased by 5.3% /5.3% =< il 3

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
A shop offers 10% discount on every purchase
ofan article. It also offers an additional discount
of 12%. If the payment is made in cash. If the
original price of an item is ¥ 250. how much a
customer will pay. if he wants to pay the price in
cash?

T M H T R W 10% i T I Sl
21 Ak qo @1 AN e U H fear S,
T 12% 1 atfafien B2 ff & STt 21 TAHER
Ifs fRdl a%g 1 o9 god T 25071, @ 3Th
ot TR &l Thg qTAE wH W fohadl i
< BwiT?
(1) T180
(3) T198

2) ¥192
4) ¥195

(SSC MTS Exam. 24.03.2013. Ist Sitting)


https://www.print-driver.com/?demolabel-en

8.

10.

I1.

Apenis listed for ¥ 12. A discount of 15%. is
given on it. A second discount is given bringing
the price down to ¥ 8.16. The rate of second
discount is

T U 1 SAfehd Ged T 1281 T W 15 %
% T2 fea T ¥ TR e s off
T ? E8 U w1 foshd ged ¥ 8.16 @

21 TR 92 B T B
(1) 20% @) 15%
() 18% 4) 25%

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
An article is listed at T 900 and two successive
discount of 8% and 8% are given on it. How
much would the seller gain or lose, if he gives a
single discount of 16%, instead of two discount?

ferell o <1 Afehd ged T 900 ® T 3@ W
8% T 8% % Tl HEAR e f&u &1 7| 4% <
HHAR F2 & M W Toshdl 16% 1 THAS
T2 ¥, @ 39 fRaT @9 A B e
(1) Gainof ¥ 4.76/ ¥ 4.76 =h1 =119
(2) Lossof ¥ 5.76/F 5.76 sl I+
(3) Gainof ¥ 576/ ¥ 5.76 <1 <H
(4) Lossof ¥ 4.76/ % 4.76 k! &I

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
The marked price of a watch is ¥ 800. A shop-
keeper gives two successive discount and sells
the watch at ¥ 612. If the first discount is 10%.
the second discount is :

T €I 1 3ifehd ged T 800 Bl ThH UEH
3Eeh Hfehd Hod IR T HHAR 92 W Il
g1 5§ e 10% 21 9k ueeh | sl &
fau ¥ 612 1 A fwan &1, @ T 9
-

(1) 10%
G3) 15%

2) 12%
4) 20%
(SSC CPO S.I. Exam. 26.05.2005) &
SSC CGL Prelim Exam. 21.04.2013)
A dealer buys a car listed at ¥ 200000 at suc-
cessive discount of 5% and 10%. If he sells the
car for 179550, then his profit is
T AR T 200000 3Afhd Hed amell &R &
5% TAT 10% % HAAR S W EHER 8| 9

I8 HI B 179550 § 9=, 1 SHHRT o9 BIM-

12.

13.

14.

15.

(1) 10%
G3) 5%

2) 9%

4 4%
(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)
An article listed at ¥ 800 is sold at successive
discount of 25% and 15%. The buyer desires to
sell it off at a profit of 20% after allowing a 10%
discount. What would be his list price?

Teh a%q], fS¥eh1 3fferd Hedt 800 &. 2 25% qe
15% o ShHAR S22l o |19 = Sl €1 WHEER
USRI 10% Rl Th F0 <1 o 3Td o 20%
A AL SEA WEd B IU SR TRl
s Hea FaRfa s sm?
(1) ¥620 (2) T600
() F640 (4) T680

(SSC CGL Prelim Exam. 04.02.2007 (IInd Sitting)
An article is listed at ¥ 920. A customer. pays T
742 .90 for it after getting two successive discount.

If the rate of first discount is 15%. the rate of 2nd
discount is.

forell &g 1 SifeRd wed 920 & 81 IS TEH
T HHAR HAlad deht 5§ 742.90 &, § @
21 A€ TRl FAA HT R 15% T, T T BT
T FM-
(1) 3%
3) 8%

2) 5%

4) 12%
(SSC CGL Prelim Exam. 27.07.2008 (Ist Sitting)
A bicycle, marked at ¥ 2,000. is sold with two
successive discount of 20% and 10%. An addi-
tional discount of 5% is offered for cash pay-
ment. The selling price of the bicycle at cash
payment is
Th EEfehd, fSEent siferd 9o 2,000 €T 2,
20 Hfaerd qen 10 9faerd & 3 hHaR d2 &
i 9=t S 1 FRs e & faw 5 wfiera
1 Th AN 922 & S €1 6 P
% fou fou wfea w1 fokra-gea grm-
(1) ¥1,368 (2) T1.468
() T1,568  (4) T1,668

(SSC CGL Prelim Exam. 27.07.2008 (IInd Sitting)

Two successive discount of 5%, 10% are given
for an article costing T 850. Persent cost of the
article is (in ¥) :



https://www.print-driver.com/?demolabel-en

16.

¥ 850 ANA aTcil Teh o] T ShHTIHR 5% T
10% 1 B2 & Il 21 TEIGR 3 q& HI
FAHE ARE (T H) = BE 2

(1) 725 Q) 726.75
(3) 700 4) 650
FCI Assistant Grade-III Exam. 05.02.2012 (Paper-I)
East Zone (IInd Sitting)

The discount series 10%. 20%. 40% is equiva-
lent to a single discount of
T2 AU 10%, 20%, 40% 7 ToHuH 92 &

T €2
(1) 50% (2) 56.8%
(3) 60% 4) 62.28%

(SSC CPO S.I. Exam. 07.09.2003) & (SSC DEO Exam. 31.08.2008)
& (SSC CHSL DEO & LDC Exam. 04.12.2011) & (SSC GL Tier - IT Exam.

17.

18.

19.

16.09.2012)
The single discount equivalent to two succes-
sive discount of 20% and 5% is
20% AT 5% % T HHAAR d o HAH

THAS 9 B-
(1) 24% Q) 25%
(3) 22% @) 23%

(SSC SAS Exam. 26.06.2010) & (SSC CHSL DEO &
LDC Exam. 27.11.2010 (IInd Sitting)
The marked price of a watch is ¥ 1,600. The
shopkeeper gives successive discount of 10% and
x% to the customer. If the customer pays ¥ 1,224
for the watch the value of x is
T TSl H1 3Afehd qed T 1,600 B SHT
faehal Teh @URR 1 HATTAR 10% T x% hi
B @ § R @ER 3H T 1,224 ° @R @
2| TEIER x 1 HH 1 2?2
(1) 5% 2) 10%
3) 15% 4) 20%
(SSC MTS (Non-Technical) Exam. 27.02.2011) &
(SSC GL Tier-I Exam. 21.04.2013 (Ist Sitting)
The price of a certain television set is discounted
by 10% and the reduced price is then discounted
by 10%. This series of successive discounts is
equivalent to a single discount of

fopdht Iefifee T & Hod W 10% B2 1 W 2
T B a0 e W 10% g & S R
TRIHR &8 Shiteh ¢, Teh Tehall fohar IaRTd &
BN

20.

21.

22.

23.

(1) 20%
(3) 18%

(2) 19%
4 1%
(SSC CHSL DEO & LDC Exam. 04.12.2011 &
28.10.2012 (Ist Sitting (East Zone)
The single discount which is equivalent to suc-
cessive discount 0of 20%, 15% and 10% is
20%, 15% T 10% T & W 3 TE i e,

T Sehall fohad TR 2 & STeR BRiT?

(1) 32.7% (2) 342%
() 36.9% (4) 38.8%
(SSC CHSL DEO & LDC Exam. 04.12.2011
(IInd Sitting (East Zone)

Afanis listed at ¥ 1500 and a discount of 20% is
offered on the list price. What additional discount
must be offered to the customer to bring the net price
to T 11042

T TW H G Hed 1500 €. § R g g
W 20% HT HAd § WA 21 TR TS B
fopat sifafie et & Sw @fe ST US
T 1104 & W 3 9 ?
(1) 8% 2) 10%
3) 12% @) 15%

(SSC CGL Prelim Exam. 13.11.2005 (First Sitting)
A trader allows a trade discount of 20% and a

1
cash discount of 62% on the marked price of

the goods and gets a net gain of 20% of the cost.
By how much above the cost should the goods
be marked for the sale?

T AN ST AR W 20% B2 hH1 STTAN

I T SR T A B SfRd Ted W 6%%

HT Th B2 AW TN IW W@ IH ST AN
W 20% Y5 19 Tierdn 81 aEgER, se % fag
34 I A I SAfeRd Yod, STHRT ARG
T foram = W =@ifeu?
(1) 40% 2) 50%
(3) 60% @) 70%

(SSC Graduate Level Tier-II Exam. 16.09.2012)
A toy train is marked at ¥ 400 and sold at a

discount of 8% during Ganesh puja. A shop-
keeper announces a discount of 8%. The amount
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24.

25.

26.

he will loose if he announces a single discount
of 16% is

T e M W T 400 S & SR U
TS % SNH SE 8% B W Sl TN Th
THMER 8% B W o1 TN Th FHMER 8%
B BT TGN A 2| AE T8 16% FT STehell
T2 I AOON A, A IY B AT B BHA-
(1) ¥2.56 (2) T3.84

() T4.16 (4) T5.78

(S$SC CHSL DEO & LDC Exam. 04.11.2012 (IInd Sitting)
During a month-long annual sale, a shopkeeper
sells his goods at a discount of 50%. But in the
last week, he offers an additional discount of
40%. If the original price of a shirt is T x, then
the price. (in rupees) during the last week of the
sale will be

Tk HEH T o arefl, STol aifties skl H,
T THESN IO =S 50% B W =l 2
3 & sAfow wwE ¥ 98 40% i SR 92
ff <@ T TIER AR TH FHS H SRR
Ted x ®IC @1 2, @ offqw 9wmg ° 5% fohad
®UC B ST ?
(1) 90%ofx (2) 70% ofx
(3) 30%ofx (4) 10%ofx

(SSC CHSL DEO & LDC Exam. 28.10.2012 (Ist Sitting)
A singel discount of 50% on ar article costing ¥

10000 is better than two successive discounts of
40% and 10% by

10,000 T AN 1 Teh g8 W 50% hi
THAA B2, 38 R 40% A1 10% 1 I hitH
z | ¥ fhaft S8R € 2
(1) 400 (2) ¥1000
(3) 500 (4) F600

(SSC MTS Exam. 10.03.2013. Ist Sitting : Patna)

Two successive discount of 70% and 30% are
equivalent to a single discount of

70% AT 30% i I shitR B, TR 7T &
Thd T2 H I B2

1) 75% 2) 79%

() 100% 4) 89%

(SSC MTS Exam. 17.03.2013. IInd Sitting)

27.

28.

29.

30.

A machine is marked at ¥ 6,800 and available at
a discount of 10%. The shopkeeper gives another
off season discount to the buyer and sells the ma-
chine for ¥ 5,202. Find the off season discount.

T WY w1 Sfhd ged T 6,800 % R € W
10% B2 3qcTs 21 SHH SRR 38 W A
T W@ W GRR i el 22 3@ 81 39 ¥
5,202 H =9 31 81 EIER 9 HEH B2 fha
oi?

1) 10%
() 15%

2) 12%
4) 18%
(SSC MTS Exam. 24.03.2013. Ist Sitting)
A shopkeeper purchased a chair marked at ¥
600 at two successive discounts of 15% and 20%
respectively. He spent ¥ 28 on transportain and
sold the chair for ¥ 545. His gain percent was
TH THMER 7 T 600 & AfqH Hed HI TH
T BT 15% T 20% 1 T hifeh D2 W
TN 3 39 H[HI & UEET W T 28 @A
fopu, Ioqvamq 3H ¥ 545 ° 99 feA a_gER
3IG% A9 K UfawTd foha en?
(1) 25% (2) 30%
(3) 35% 4) 20%

(SSC Graduate Level Tier-II Exam. 29.09.2013)
The marked price of a piano was ¥ 15,000. At the
time of sale, there were successive discounts of
20%. 10% and 10% respectively on it. The sale
price was
e T &1 sifRd god ¥ 15,000 1l 39
A0 THY 3 W 20%. 10% T 10% K1 T4
HiHk B & I TEIER, IHH fashl oA
fepan em 2
(1) ¥9,720
(3) 9,760

(2) 9,750

(4) ¥9,780
(SSC Graduate Level Tier-II Exam. 29.09.2013)
A sofa-set listed at ¥ 800 is sold to a retailer at
successive discounts of 25% and 15% by the

wholesaler. Then the cost price of the sofa-set
for retailer is

% HehHe, fager $ifhd 9o T 800 7, Th
offeh-foshdl G Teh HEH{ THMER &l 25%
AT 15% 1 Shifeh B2 W a1, el B TEIEN,
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39 FERL THMSR & [ WHHe 1 AN

e foma g ?
(1) ¥500 (2) 3510
(3) ¥550 (4) 560

(SSC Delhi Police S.I. (ST) Exam. 19.08.2012)
TYPE-III

A trademan marks his goods at 20% above the cost
price. He allows his coustomers a discount of 8%
on marked price. Find out his profit per cent.

WIg AN ST =Sl W Hed § 20% 3ok
e 3ifehd YT €1 9 7O Tlgehi kI 39 SifehRd
Tod T 8% T T <1 | SHRT TN FRwT T
il
(1) 12% (2) 10.4%
() 8.6% 4) 8.2%

(SSC CGL Prelim Exam. 04.07.1999 (IInd Sitting)
A trader marked the selling price ofan article at
10% above the cost price. At the time of selling,

he allows certain discount and suffers a loss 1%.
He allowed the discount of :

T IR foRdt a%qg 1 foskd Hod A Hod ©
10% @fereh Sifehd ohidl 81 SO WY 98 HD
T2 31§ S Y 1% 1 B Bl 81 S Fre
T A B-
1) 11% @) 10%
(3) 9% @) 10.5%
(SSC CGL Prelim Exam. 11.05.2003 (Ist Sitting) &
(SSC CGL Prelim Exam. 04.02.2007 (IInd Sitting)

A shopkeeper marks the price of and item keep-

: : 1,
ing 20% profit. If he offers a discount of 12 5 %o

on the marked price, his gain percent will be
Teh GehTSR TRl a&q o1 3ifehd Hoot 20% T4
e g Fuifa #=ar 21 9fk 9% sifehd god W

1
120% 1 Th 9 S F, A OSEHR A

gfaera grm-
(1) 4.5%
(3) 7.5%

Q) 5%
@) 8%

(SSC (South Zone) Investigator Exam. 12.09.2010)

Ifashopkeeper marks the price of goods 50% more than
their cost price and allows a discount of 40% what is his

gain or loss percent?
T HE IHEIN ST =S Bl e, ITeh AR
o T 50% ik Sifend il & IR ST W 40%
1 B2 I T A SHR o A T BT W T
T 22
(1) Gain of 10% / 10% ¥
(2) Lossof 10% / 10% &I+
(3) Gain of 20% / 20% ¥
(4) Loss 0of20% / 20% &I+

(SSC CHSLDEO & LDC Exam. 04.12.2011(IInd Sitting (North Zone)
A dealer marks his goods at 40% above the cost

price and allows a discount of 20% on the marked
price. The dealer has a

T AR TGS W H qed § 40%
ifehd Yl T R Sifthd Hod W 20% ®e 31
2| AR Wi e ©

(1) loss of 20% / 20% i BIH

(2) gain of 25% / 25% k1 =¥

(3) lossof 12%/ 12% i BIH

(4) gain of 12% / 12% b1 o9
(SSC CPO S.I Exam. 26.05.2003) & SSC CHSL DEO &

LDC Exam. 11.12.2011 (Ist Sitting (Delhi Zone)
A trader marks his goods 45% above the cost
price and gives a discount of 20% on the marked
price. The gain % on goods he makes is :
T ORI SO TEGS Rl A qod § 45%
aferh Sifehd AT ¥ R T W 20% B <A
2 IRgell W W e AT oy wfied @
(1) 15% 2) 14%
(3) 29% 4) 16%
(SSC CHSL DEO & LDC Exam. 11.12.2011
(IInd Sitting (Delhi Zone)
Maha Bazaar offers 20% discount on bags which
have been marked 50% above the cost price.
Amarnath pays ¥ 840 for a bag. Then the cost
price of the bag is
AME oI W 50% ek Sffehd god WX HE
TR § el W 20% B2 I Bl 98 W
AETIY o Teh 9t 1 HIHA 840 HIY THTE 2
AEIER 39 9 1 AN Hod feha o ?
(1) F672 (2) T700
(3) ¥790 (4) T810

(SSC CHSL DEO & L.DC Exam. 11.12.2011 (Ist Sitting (East Zone)
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8.

10.

I1.

The marked price of an article is 10% highter
than the cost price. A discount of 10% is given
on the marked price. In this kind of sale, the seller
bears.
fordl a%q 1 sifehd ST ITH! AT HiTd o
10% 31frek 21 Sifehd hITd W 10% T =
ST 21 39 YRR i et § faswar w1 o1 9w
B 82
(1) no loss. no gain /¥ I, 7 @19
(2) alossof 5% /5% &1+
(3) againof 1% / 1% ¥
(4) alossof 1% /1% =4

(SSC CHSL DEO Exam. 02.11.2014) (Ist Sitting)
The marked price of a saree 1s ¥ 200. After al-
lowing a discount of 20% on the marked price,
the shopkeeper makes a profit of ¥ 16. Find the
gain percent.
fre wret w1 siferd wiwd 200 ®9IC B TH
SfRd AT W 20% B I & ¥ THMER
H 16 T K1 AT B | A1 FRRIG FqT

(1) llé% 2) 911—1%
3) 11% 4) 8%

(SSC CHSL DEO & LDC Exam. 9.11.2014)
Jasmine allows 4% discount on the marked price
of her goods and still earns a profit of 20%. What
is the cost price of a shirt if its marked price is T
850 ?
ST ot aeget & ifhd Tod W 40% =2
= & SR fir ot 20% @w SRid wd R 3H

HHIS & AR hiAd 1 ¢ fgeh ifhd god

T850% ?
(1) ¥650 2) T720
(3) ¥700 (4) T680

(SSC CGL Tier-I Re- Exam. (2013) 27.04.2014)
A shopkeeper allows a discount of 10% on the
marked price of an item but charges as sales tax
of 8% on the discounted price. If the customer
pays ¥ 3,402 as the price including the sales
tax, then the marked price is

T THMER Toh o5 & 3ifhd qod T 10% Rl
B @ T elfeh w2 TR T Ged W 8% 1 ekl
T YA HY | AR Teh feht A Wfed & &
H 3,402 ®IT <@ ¢, @ iR goI T 7 2

12.

13.

14.

15.

(1) ¥3,400
(3) ¥3,600

(2) ¥3,500
(4) ¥3,800

(SSC CGL Tier-I Exam. 19.10.2014)
A shopkeeper allows a discount of 12.5% on the
marked price of a certain article and makes a
profit of20%. If the article costs the shopkeeper
T 210, then the marked price of the article will
be
Teh RMER fondll a5 & 3ffehd Hod W 12.5%
®1 2 @ € AR 20% 1 N9 HAC 2| AR
I k1 AN THESK Bl T 210 TS €, @
% 1 SifRd oI A1 T2
(1) ¥387 (2) T350
(3) ¥386 (4) T288

(SSC CGL Tier-I Exam. 26.10.2014)

A businessman allows a discount of 10% on the
marked price. What percent above the cost price

must he mark his goods to make a profit of 17
per cent ?

T AR kg Hod W 10% H1 B2 3a1 2
39 17% %1 o9 HAM & AU 0 GHE &
And Hed | fohad wfaerd stferes Hog sifera
A B2
1) 27%
() 30%

(2) 18%
4) 20%

(SSC CGL Tier-I Exam. 26.10.2014)
A tradesman marks his goods at 20% above the
cost price. He allows his coustomers a discount
of 8% on the marked price. Then his profit per
cent is

T FOR 0 §HE W A6 Jod 9 20%
afereh SAfehd HIaT 1 98 3T UEhi ki Afehd
T W 8% k! B2 A ¢, T STHT AT Fherd
Fm?

(1) 10.4%
() 12.2%

2) 11%

4 9.7%

(SSC CGL Tier-1l Exam. 2014 12.04.2015
(Kolkata Region) TF No. 789 TH 7)

A shopkeeper allows 10% discount on goods

when he sells without credit. Cost price of his

goods is 80% of his selling price. If he sells his

goods by cash, then his profit is


https://www.print-driver.com/?demolabel-en

16.

17.

18.

Teh THMER 96 T M 1 YR 81 =l
T W W W 10% HT T <1 2| SHb THH I
AT Hod 34 foshl Jod 1 80% 2 afz 9%
T WHE Rl RS SOQ ¢, 1 SHBI AIH
ferem wfaerg 272
(1) 50% 2) 70%
(3) 25% (4) 40%
(SSC CGL Tier-I Exam. 19.10.2014 TF No. 022 MH 3)
20% profit is made when a discount of 20% is
given on the marked price. When the discount is
30% profit will be
#fhd god W S 20% k1 g §F W T @
20% 1 TN BT 21 AE B 30% HT §F M
SICRETEIRIF
(1) 4% 2) 5%
(3) 6% 4) 7.5%
(SSC CGL Tier-I Re-Exam. 30.08.2015)
A man allows a discount of 10% on a book whose
marked price is ¥ 40. What is the cost price so
that the profit is 20%?
Th AfeR Toh T&ieh T fSHeh1 Sifehd Hed 40
®IT 2, 10% 1 B2 a1 8| STHT AN Tod
1 B e @19 20% 1 B ?
(1) 35 ) 40
(3) T30 @) 45
(SSC Constable (GD) Exam. 04.10.2015. IInd Sitting)
A trader who marks his goods up to 50% of-

fered a disocunt of 20%. What % profit the trader
makes after offering the payment?

Teh AR S 3T AT bl 50% Afersk sifera
HIA T, 20% HI B2 @ T AT B H B
g fRa % o9 W w2
(1) 30% 2) 70%
(3) 20% “4) 50%

(SSC CAPFs. CISF & Delhi Police SI Exam. 22.06.2014 TF No. 999 KPO)

19.

After allowing 15% discount, the selling price
of a radio becomes ¥ 255. The marked price is
fordlt edl W 15% 1 B2 3 & ITA SHb!
fofshd ShIAd 255 ®IT B STd) 81 IHR! SAfhd
SHIFT T B2

(1) 500 (2) F600

(3) T400 (4) 300
(SSC CHSL (10+2) LDC, DEO & PA/SA Exam. 20.12.2015
(Ist Sitting) TF No. 9692918)

TYPE-IV

The printed price of an article is T 900 but the
retailer gets a discount of 40%. He sells the ar-
ticle for T 900. Retailer's gain per cent is :
forel o] W B B oA 900 & § eifehd
Teh EU AR S8 40% S T THeeht g
900 g—oﬁaﬂiﬂ%@mmﬁwm
A -

(1) 40% (2) 60%
3) 66%% 4) 68%%

(SSC CGL Prelim Exam. 04.07.1999 (IInd Sitting)
Adealer offers a discounts of 10% on the marked
price of an article and still makes a profit of20%.
Ifits marked price is ¥ 800, then the cost price
of the article is :
Teh HRMER fRdl a%g & 3ifhd Jod W 10%
o1 92 3 & SR fRL Hft 20% 1 enw At
FA T AR SqHT 3HfeRd e 800 Fo &,

I H1 B oI &-
(1) F900 (2) ¥800
(3) F700 4) F600

(SSC CGL Prelim Exam. 24.02.2002 (First Sitting)

A shopkeeper sells his goods at 10% discount
on the marked price. What price should he mark
on an article that costs him ¥ 900 to gain 10%?
T FUR 70 A1 Rl SAfhd qod b 10%
T2 T S=dl Bl 10% o9 S & oy o8 59
T H1 1 Hed Afhd L S 3H 900 T H
T g8 7?2
(1) ¥1275  (2) ¥1250
(3) T1175 (%) F1100

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
A tradesma gives 4% discount on the marked
price and gives 1 article free of buying every 15
articles and thus gains 35%. The marked price
is increased above the cost price by

T AN 3ifhd Jed W 4% 1 92 %dl ©
AT 15 TGS I Todeh @lg W 1 %] o H
A 2 S TH BN 35% oI HAM 2| SAfeha
e 1 A W Fha sgran T4 € 2

(1) 40% 2) 39%

(3) 50% 4) 20%

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
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5.

The cost of manufacturing an article was ¥ 900.
The trader wants to gain 25% after giving a dis-
count of 10%. The marked price must be :

fordll a%q & TAI0 &1 @AW 900 &, off| SATIRT
39 W 10% 1 B2 A & o7 H 25% 1 A9
SIS TR T SY I 9E k1 SAfhd g
fera fwifa wve B

(1) 1500  (2) T1250

(3) ¥1200  (4) T1000

(SSC CGL Prelim Exam. 13.11.2005 (Ist Sitting) &

(SSC GL Tier-I Exam. 21.04.2013)

A seller marks his goods 30% above their cost

price but allows 15% discount for cash payment,
His percentage of profit when sold in cash is

HE fahdl 9 AA & T HI HI God 9
30% ifereh TR SAfehd e € T Ths A
W 15% H1 Th 92 A1 ¢ Fhs JIAH W
9 © IHRT A9 WA B
(1) 10.5% 2) 15%
3) 9% 4) 8.5%

(SSC (South Zone) Investigator Exam. 12.09.2010)
The marked price of of a radio is ¥ 4,800. The
shopkeeper allows a discount of 10% and gains

8%. If no discount is allowed, his gain per cent
will be

wsh el w1 3Afehd Hod 4,800 TIT 2| THFIN
10% 1 Tsh ST 3a1 © qT 8% N FI hLdl
21 9f¢ o8 S 5 7 7, 1 ShHl A1 Fiaw
S

1) 18%
() 22%

(2) 20%

4) 25%
(SSC Data Entry Operator Exam. 02.08.2009)
What price should a shopkeeper mark on an ar-
ticle costing him ¥ 200 to gain 35% after allow-
ing a discount of 25% ?
HE THMR T 200 A Hed oAl a& HI
fore 1 goa sffehd &Y, Ik 25% 1 Tk o
T & IWA Y 35% N A T B ?
(1) 270 (2) 300
(3) 330 (4) 360

(SSC CHSL DEO & LDC Exam. 27.11.2010)

9.

10.

I1.

12.

A shopkeeper gains ¥ 56 on a toy after allow-
ing 23% discount on its marked price. If his gain
is 10%, then the marked price of the toy is :

T THMER Tk fady & @ifhd god W 23%
B2 R T 56 h1 AN JI HIT ¢ AT IHRT
I o9 10% @1 &1, @ faee &1 @ifhd gea
ferem en?

(1) ¥810 (2) 800
(3) F560 4) 740
(SSC CHSLDEO & LDC Exam. 11.12.2011)
(IInd Sitting (East Zone)

A merchant purchases a wrist watch for ¥ 450
and fixes its list price in such a way that after
allowing a discount of 10%, he earns a profit of
25%. Find the list price of the watch.

TH A Th HAE-Te! T 450 § BRI 2|
YT, 98 SEh! YeI-Hod 39 Yo =
FA 7, MR IW 10% L IR 20% WA
e ¥ TRIER 39 wS! N YA oI I
EAIEL

(1) T480
(3) T600

(2) T450
(4) T540

($SC CGL Tier-I Exam. 26.06.2011) &

SSC MTS Exam. 17.03.2013 (kolkata Region)
A trader gains 15% after selling anitem at 10%
discount on the printed price. The ratio of the
cost price and printed price of the item 1s

H3 AN fohel a5 3T fafed gea W
10 FFAOTd At S & ST I=hT 15 Fiawd
&1 A W HAT 2| TE] o HI-Ged HT IGH
fafad gea @ UM 2:
(1) 18:23  (2) 17:18
(3) 17:23  (4) 18:25

(SSC CGL Prelim Exam. 27.07.2008 (Second Sitting)

For a certain article, if discount 1s 25% the profit
1s 25%. Ifthe discount is 10%. then the profit is

fordt a5 & AT 25% B2 W AT 25% 71 AR
T 10% & @ o B
(1) 50% (2) 40%

1
(3) 30% () 33%

FCI Assistant Grade-III Exam. 25.02.2012 (Paper-I)
North Zone (Ist Sitting)
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13.

14.

15.

16.

A merchant offers 8% discount on all his goods
and still makes a profit of 15%. If an item is
marked ¥ 250, then its cost price is

Th AN o0 9t §HE W 8% i B I
2 3R frT oft 15% 1 o9 FA 21 A Th
TR W T 250 SAfRd 7, q TR AR Tod A
B

(1) 180
(3) 230

(2) T200

(4) T187
(SSC CHSL DEO Exam. 16.11.2014) Ist Sitting)
A shopkeeper sold an item for ¥ 1,510 after giv-

1
ing a discount of 245% and thereby incurred a

loss of 10%. Had he sold the item without dis-
count, his net profit would have been

T TR 3 T e 240% A

= T 1,510 § s 3R SH 10% i e gl
Ifs 39 39 a%g ! fo =2 fIu =0 g, @
34 o fe@ oy gaT g’

M) Te4l @ T2

2 2
() 425 @) 32

(SSC CGL Tier-I Re-Exam. (2013)20.07.2014 (IInd Sitting)
A shopkeeper marks his goods 40% above the
cost price. He allows a discount of 5% for cash
payment to his customers. He receives ¥ 1064
after paying the discount. His profit is
T FHMER T A T A Hiad § 40%
sifereh HTAq Sifehd Ll T I8 S04 UTEehI i
TS A W 5% 1 B2 301 21 B W B WG
SH T 1064 faerd €1 38 foham oy ga?
(1) 264 (2) Tle4
(3) 200 (4) T800

(SSC CGL Tier-I Re-Exam. (2013) 27.04.2014

A cycle dealer offers a discount of 10% and still
makes a profit of 26%. What does he pay for a
cycle whose marked price 1s ¥ 840 ?

T iR fahdl 10% &1 82 3@ & &R iR
f 26% 1 T HAC | HERhA BT Sfhd

17.

18.

19.

20.

e A T 84081 11 98 WEfha & fau fehad
®UT 1 A BT 272
(1) F600 (2) T650
(3) ¥700 (4) T750

(SSC CGL Tier-II Exam. 21.09.2014
A shopkeeper gains 17% after allowing discount
of 10% on the marked price of an article. Find

his profit percent if the articles are sold at marked
price allowing no discount.

T THMSR &l Th a% & Sifhd Jod W
10% ! &2 < & o1% 17% 1 14 8l 21 IS
39 % ol w2 R fom sfferd geg @ =0
S ® W e HY W | bl
(1) 30% 2) 23%
(3) 27% 4) 37%

(SSC CGL Tier-I Exam. 09.08.2015

(IInd Sitting) TF No. 4239378)

A shopeeper allows a discount of 10% on the
marked price of a camera. Marked price of the
camera, which costs him ¥ 600, to make a profit
0f 20% should be
Th THHFIR Th AT % iR Joed T 10%
e 1 I HAY I AN Hed T 600 7 T 20%
H A W KT AU ITRT SAhd Ted
fRa B =fgu?
(1) ¥700
(3) ¥650

2) | T750
(4) 800
(SSC CGL Tier-I Exam. 16.08.2015
(IInd Sitting) TF No. 2176783)
A seller gains 20% profit even after allowing
10% discount. If the amount of profit on a TV
setis T 750, then the marked price ofthe TV set
is
Tk foshdl 10% 1 B2 34 & ] 20% 1
o kAT €1 A At He W e & 7 750
®UC 2 1 St W2 w1 SAfeRa god A @2
(1) ¥5200  (2) %5000
(3) T4800  (4) ¥5500
(SSC Constable (GD) Exam. 04.10.2015. IInd Sitting)
A retailer buys a sewing machine at a discount of
15% and sellsit for ¥ 1955. Thus he makes a profit
of 15%. The discount is
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Toh GEU AR Tk Toels 79 15% 52 W 3.

Tl ? 3R 39 ¥ 1955 § S=al @1 39 R
TE 15% h1 @19 W Il 2 WS B AR €
(1) F270 (2) 290
(3) F300 4) %310

(SSC CAPFs. CISF ASI & Delhi Police SI
Exam. 22.06.2014 TF No. 999 KPO)

TYPE-V

With a 5% discount on the cost of sugar. a buyer
could purchase 2 kg more suger for ¥ 608. Sell-
ing price of sugar is :

I & T W 5% 1 9 MW R R TH
TIRR T 608 H 2 fRa. aifus =M W@ &
a1l =T 1 fasha g 2

(1) T15.50 (2) %15

() T16.50 (4 Tl6

(SSC CHSL DEO & LDC Exam. 28.11.2010 (st Sitting)
TYPE-VI

The true discount on T 1,860 due after a certain
time at 5% is ¥ 60. Find the time after which it
is due.
D T & 9R 5% R T 1,860 W 39 T8A
9221 (True discount) ¥ 60 8| T HIFSY 1 o8
fohad T 9’ W@ F?
(1) 10 months/H@E
(2) 8 months/HE
(3) 9 months/HE
(4) 1 year /9

(SSC CGL Tier-I Re-Exam. (2013) 20.07.2014 (Ist Sitting)

The true discount on a sum of money due 2 years
hence at 5% is T 15. Find the sum.

Ift frel o W 3@ ¥ T 99 9% B 5%
H W W Idfasws 92 T 15 7, 98 IR
ferat © ?
(1) 150
(3) 170

2) %165

4) 160
FCI Assistant Grade-III Exam. 05.02.2012 (Paper-I)
East Zone (IInd Sitting)

The Banker's discount on a bill due 6 months
hence at 16% per annum s ¥ 216. The true dis-
countis :
forelt foret W 6 HEHT qoR BT 16% T1ftieR SRy
B2 216 TIT 7| TIIN, STEdfash g2 fehat 22
(1) ¥212 (2) T180
(3) ¥210 (4) T200

(SSC CHSL DEO & LDC Exam. 04.11.2012. Ist Sitting)
Ifin a sale, the discount given on a saree is equal
to one-fourth the marked price and the loss due

to this discount is 15%, then the ratio of the cost
price to the selling price is

afs foreht B §, W R 4 T 72 SR T
% TH-AIUE qod & SR T SR 3@ B2 b
HRON A 9Tl B 15% €, @l o Jed 3R
fosh! Yoa 1 STaqu@ 1 BEM 2
(1) 3:4 2) 4:3
(3) 10:17 (%) 20:17

(SSC CHSL DEO Exam. 16.11.2014) (Ist Sitting)
Mr. x and Mr. y each bought the same motor-
cycle using a 10% off coupon, Mr. x's cashier
took 10% offthe price and then added 8.5% sales
tax whereas Mr. y's cashier first added the sales

tax and then took 10% off the total price.The
amount Mr. x paid 18

. x iR fin. yd 10% B2 H1 KA THHA
W@@@W—W@ﬂﬁlﬁ.x@
SRR 3 FEd § 10% H g2 R R
8.5% 1 Tasha o3 @I Seifeh T, y & iR
3 Tee foehl T o iR fiRY e wimd W
10% 311 1. x 7 foaT e fean?
(1) lessby ¥ 550 as the amount Mr. y
paid
. y 50 gaE & T IR H T 550 HA
(2) same as the amount Mr. y paid
. y R aH & T8 TRT & TR
(3) greater by T 85 as the amount Mr. y paid
. y R gTares T8 URT § T85 i
(4) grate by ¥850 as the amount Mr. y paid
. y 5N FaH ST T8 AR1 § TS50 ek

(SSC CGL Tier-II Exam. 12.04.2015 TF No. 567 TL 9)
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6. A company showroom gives a discount of 20% (1) 32% (2) 36%
on the second grade shoes and a further discount (3) 35% 4) 38%
of 15% on shareholder's coupon. The total dis- (SSC COL Tier] Ro-Exam. 30.08.2015)
count, a coupon holder will get is
T HUA FT AEH GHe-US & A W 20%
FT B A € R IR Best K R 15%
22 ot <@ B K UNE R Ko Fha we
fiyerift?
Answer Key
TYPE-III
TYPE-I . @2 23 @4 @5 @
1. 32 (33 B4 (1S & 6. (4) 7. (2) 8. (49. (1) 10. (4)
6. (1) 7. 4 8. (3)9. (3) 10. (4) 11. 2) 12. (4) 13. (3) 14. (1) 15. (3)
11. 3) 12. 3) 13. (2) 14. (2) 15. (2) 16. 2) 17. 3) 18. (3) 19. (4)
16. 3) 17. 3) 18. (2) 19. (4) 20. (1) TYPE-IV
21. (2) 22. (1) 23. (1) 24. (2) 25. (3) 1. 32 @3 B4 35 @
26. (2) 27. (3) 28. (3) 29. (1) 6. (1) 7. (2) 8. (9. (2) 10. (3)
TYPE-II 11. (1) 12. (1) 13. (2) 14. (4) 15. (1)
. @2 23 @4 S5 O 16. (1) 17. (1) 18. (4) 19. (2) 20. (3)
6. (2) 7. 3) 8. ()9 (2) 10. (3) TYPE-V
11. 3) 12. (4) 13. (2) 14. (1) 15. (2) 1. 4
16. (2) 17. (1) 18. (3) 19. (2) 20. (4) TYPE-VI
21. (1) 22. (3) 23. (1) 24. 3) 25. (1) . @2 23 B4 &S5 ©
26. (2) 27. (3) 28. (1) 29. (1) 30. (2) 6. (1)
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